ly \/\\ 18) Evaluate %+§+§:_¢}. L
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Y1

1 1 3 1 1
a)-— — bji—— <¢ti—=— dy-—— e} none of these
T 100 100! 99! 2 9a

19} Suppose that 243 in base b is equal to 153 in base b + 2, where b > 0. What is b?

a5 b) 6 c}7 ' d)8 e}9

26) Find the sum of all solutions to Lx—2016|+|x-—201 ?|= 3

a)3 b) O c}2015  d)3164 e) 4033

27) Circle O has three chords, AD, DF, and EF. Point £ likes along the arc AD. Point Cis the
intersection of chords AD and EF. Point B lies on segment AC such that £8 = EC = 8. Given AB =
b, BC =10, and €D =9, find DF.

3)9\/37 b) 12 ;.JE C %i_ﬂ- d) 8\[(; e} none of these

30) The area of the triangle ABC whose sides have measures a=17.6, b=11.1, c=13.11is
approximately

a) 15.88 by 72.61 c) 81.53 d)91.24 e) it cannot be determined



Additional Practice Problems (From Kennesaw 2012-13 part 1 test)

.
3.

ey

14.

16.

§ - LIRS B3 1 - s g 3 . i 4
Let g=2"" p=3"" o=10°"  Ifa b and ¢ arc arranged from smallest 1o largest, then

which of the foliowing is correct?
4
(A a<b=r {B) &<exa {Cy ea=<h (D) a<c=<p {E) q=a<c

The ordered pair of real numbers (a, b) satisfies the following system of equations:
2g-b=2 ‘
Yogla ~logh=12.

Compute a + b.

99 90 101 w2 1
A) o (B) 22 oy 2y 22 gy U2
Wiz ®5 ©OF D =55 B 5

Let &, b, and ¢ be the roots of the polynomial equation x* =17x—19 = 0. Compute

the value of &° + 5% + c°.

(A} O {B) 3 (Cy 17 Dy 51 (E) 57

In triangle ABC, the bisector of angle A meets side BC at
point I3 sach that AD and DC are the same length. If'the
lengihs of AB and BC are 12 and 16 inches, respectively,
corpute the cosine of angle ACB,

1 -~ ~ 4 I
A) — B) = C) 2 Dy 2 E) X2
ﬁ?z {}3 ()4 (D 5 (E) 5




18, The frst three terms of a geomelnic sequence are the values x, ¥, and z, in that order.
The first three terms of an arithmetic sequence are the values v, x, and z, in that order,
I x, ¥, and z are distinct real numbers, compute the ratio of the fifth term of the
geometnic sequence to the fifth term of the arithmetic sequence.

A o 4 = 19
w3 ®: ©I oY ®g

19.  HWx>0andy> 0and {x, ¥} is a solution of the system of equations

,32,,{,,;1_:;1. and ML+-1»-=-1- compute x + y.
xy 16

=2 w9y

12 16 75 108 125
A) = By 2 o« 2 @ 108 my 125
w3y ®F 02 O3 O

20.  Inaright triangle, the square of the hypotenuse is four times the product of the legs, If o

is the smallest angle of the triangle, compute tana.

(A) S3-42 (@B -’“%i (€ 2-43 (D) 248 (E) lf;




2t When the number x° is written in base v, the value is 341, When the number 17 is written
in base x, the value 1s 44, Compute x + 3.

(A) 17 {B) 19 {Cy 21 Dy 23 (E} 25§
23, M+ +y=12 and x Hy|~y =14, compute the value of z.
}?
(A) =2375  (B) ~1.625  (C) -1250 (D) 1.875 (F) 2.125
()

25 A line drawn from the origin to the center of s circle has a slope of 2, and a tangent line to
the circle drawn from the origin has a slope of 3. Compute the slope of the other tangent line
drawn from the origin.

13 . N g 5 .3
Ay e By = . - Ey =~
w2 e ©F o o3

(L
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‘ ]
' 2
m = 2 b - - - 4 2
18) Evaluate + + i 2 oo ool = } Se 217 5 ¥
)E—L b) — L }1———— cl}-l-—'i e) none of these
T 100! 100! 99 2 99

19) Suppose that 243 in base b is equal to 153 in base b + 2, where b > 0. Whatis b?
a}s b) 6 c)7 d} 8 e)9

Al3 =) :
R A b2Sh-14= o [5'*7{

abt the3 > llnfssquyy | (gp)hr)eo
22494 = b2apayasbh o
26} Find the sum of all solutions to Lx—2016'+[x~201?|=3

a}3 b) 0 ¢) 2015 d) 3164 e . Z
X=20l5 X=201¥ o~ 2015 201?"‘[ 033i

’20!5’1016'+’2°l$—"2007'!=~3. ’2035’-2516{-*(20'2—20'7-] =3
| + 2 =3v 2 + | = 3V

27) Circle O has three chords, AD, DF, and EF. Point £ likes along the arc AD. Point Cis the
intersection of chords AD and EF. Point B lies on segment AC such that EB = FC = 8. Given AB =

b, BC =10, and €D =9, find DF. 2 _
, Igx 9=9xCF ODF = 405—32%(5]
_ . &£
(g=Ce DFQ‘ )’2’#0-/420 405
DF ™= 9419 200)(18)cos &

-
= §/+ 324 - 324coseo | DF= ()""’5‘ .}?‘5' /5 /z
>

~

f .

DF %= 405~ 324 (056 J2

a)Q\E b) 12 ;\/g c) £ I d) 86 e} none of these

30) The area of the trrang!e ABC whuse s;des have measures a= 17 6 b 11 1 c=13.1is /‘/p/,og,, K Q\, ,
approximately S$= omi+ @um&"’a { "/'ndﬂJ

a) 15.88 K b) 72.61 ( c) 81.53 d) 91.24 e) it cannot be determined ’4 _‘);(5 )(6 L)(! CJ
/f= J_\_____,,\ S=I1Z4HigHI =43
' S(S~4)(S-é)(5-c) _

= \}E.?(w.e-/?.z)(lfw'"-l)é""f”@ = 70

(\v/)




Additiohal Practice Problems (From Kennesaw 2012-13 part 1 test)

.03, Let a=2"# b —"""'?9 c=102 . Ifa, b, and c are armngcd from smallest to largest, then
?
which of thf: following is correct?

{f\)axbxc {{mlé«exfr {C) e<a<h {Ma<ec<d (E)b<a<c

]

e (02'9’}”{ (3) (IO)/{ b<c<a

toxz4 [ovD

8. The ordered pair of real numbers (a, b) satisfies the following system of equations:

log2a ~logh=2. ’Og("(g )'—‘—02 10 = 7— /uoli‘ﬂ’
o

Compute a + b.

[oof =2
99 . 99 . 103 - 4A
(A) o5 (B) 81 (C) — 5 $ob =a
2(5ok)-L =2 - =
(5b) -4 v
ool —b =2 oo
29b=2 ey
14.  Leta, b, and ¢ be the roots of the polynomial equation x* —17x—19 = 0. Compute
the value of @’ +b" +¢. Ix%+0x> - 1Zx-19= 0
(A) O (B) 3 (C) 17 (D) 51 @{
-0
43—4?4-—1?10 A+btc= 720
= 1 7a 411 a}+gf+ = (?(m‘!-fc) +5 7
63:‘ | 7b+19 _
e en? ke 2 B

16.  Intriangle ABC, the bisector of angle A meets side BC at
point D such that AD and DC are the same length. If the
lengths of AB and BC are 12 and 16 inches, respectively,
compute the cosine of angle ACB.

7'”7/”.;-;"”'__\" T ° :
wi\®il o2 of ®F
2 3 T4 "5 2

5("“/’24 Sn’\c\ { 245//\4@54:{65}»««

1€ 12 |
24’40‘54.::/5
o?sinaaosax - SN .
YA (> Cosavlé -2
24 3
|

7N
N



18, The first three terms of a geomelric sequence are the values x, y, and z, in that order,
The first three terms of an arithmetic sequence are the values y, x, and z, in that order.
f x, ¥, and z are distinct real numbers, compute the ratio of the fifth term of the
( w geometric sequence 1o the fifth term of the arithmetic sequence.

U o 4 U oy B . 19
hl By = C) L D) = E) —

GIZOMF:‘-”" ﬁefaznw. 6€DN-/?”C %Zsmf_&;‘ é_ 2)()1
X, 4 z YL E e X
) J
Lg"" L‘;"" 2 — X) ”QX)*QXJ .:é‘) _Lé)(
x =3 77 z ey Avithmetic seqmence

A ithmetre Seuonte

¢ Iy P 16X
7,)()2-?—2:( xJ‘fx) = =

| 6% _ {?’
(j) X ) z - Z-=X"*(><*fj) :0262x+&)<x~j) {’24"(’10 = Jox < "s':[

_ g/;‘/nf’ltfé sTnwe
K‘j x‘j Z= 2,)<~j : j"zx) 5}4/—1’)(4«4’} A««(lﬁ\’ﬁ"d’
19,  Ifx>0andy>0and {x, ) is a solution of the system of equations
i+~§-—}~and%l-+jm—-!w compute x +y
F a9 Ty g MR
12 16 75 108 125
(A} —= By - () ~-= D}y — E) -
*) = ®5  OF O3F “12/
- )
O et g) G s e S
_ ® x:) N Y4 | j q ¢ Tahg T MY o
‘_\,. . k) 1 15 20
Lal == Y ) (5 ~ /25
X 12 _.( + - | == = o T2
J ( A )‘) I T RIS
.l(i+1)=_' Ll L
¥\X 4/7 9 y /L)"Q
1(2 =L Lo
X 'l) 1 ] 5 #y
L&i '7 i 3 2

20.  Inaright triangle, the square of the hypotenuse is four times the product of the legs. If a
is the smallest angle of the triangle, compute tana.

W B-2 - ® {(cs_z«/':i (D) 2+43 ® =

b y { Leth |
a- /5 Eﬁ"] ié‘f—'*Lo X tx+l=D
b * ; “ X= 4ia)/é~¢(f){l)
Let 2. 240% bal
a=X | a"+ A l vy
o, s . 2 < ~4+x=0)X D
T et el e =4t B o3
Cl‘_ﬁz'\‘"él .a_i_‘ltf:l:-k él I‘Af»x.l.xz':o 2 - 2
dé al ;Z‘.:o } fm«/égJ‘ Vd/Kz-’ 2-E



21. When the number x° is written in base v, the value is 341. When the number 3 is wrilten
in base x, the value 1s 44. Compute x + y.

T
(A) 17 (B) 19 () 21 ng 3| ®2s

‘332+ 43-%! =xz Hie = “x + 4232 *j:) Ux+y = dxar (>

= 2 = z
3(%(#%)*4(35:)“")( 9.""-—- X~ £4=(x+n(x-13)

[2x LT BIxa\ +1 =x s v
lQ(X-H){—f,)y*\ —_xl-vl (J_;)»(y— ) =g ) X=/5
(2(x+)+ &+ = (¢ )YX-1) | - (x- {3) j '8 7

=t w~ Xt Y-H X'i'r:?-)-/s' m’
23, M P+ x+y=12 and x Hy|—y =14, compute the value of z J
O @ <o ¥y
@ (B) -1.625  (C) 1250 (D) 1.875 (E) 2.125
i>(+3—;l7_ ¥-24= 14
q=1272x 7 xe2a2)= Iy x 5% e on
gy T e g =375
x—zuf‘ﬁx:ﬁ J Vs
Ex=3g
g =3 - gal
= )0 O

25, A line drawn from the origin to the center of a circle has a slope of 2, and a tangent line to
the circle drawn from the origin has a slope of 3. Compute the slope of the other tangent line

drawn from the origin. ¥ ‘fan (b(+ P) - taur +4an g

13 1 9 .S 3 | =tencetan
w5 ®c ©; O3 ®3 F

— =

- "Ii'ar\ a + oz
| - "t‘dn‘ﬂ [ 3.) -

Tana + 2= 31 ~2twma)
fana—+&=3»é—é¢ma
’ﬁm (Q&d é) = T = ; Floana = |

W) e e — -

: )
ﬁ'h[m‘é): —% =2 "f"‘"“‘/? é
) i é'dh ot o "aﬂa\ n
tun ([l‘\' 6HL) = fun 2+ A (é’«‘f’é)- [ ,‘L)) t + ’fa s
| i“{'ﬂn A.-éé'ﬂ i)
/ - 'bmx’(fm(ﬁ )




